Math 29
Additional Trigonometric Equations

Solve each equation for solutions in the interval specified. When possible, state exact solutions.
Otherwise, state solutions to the nearest hundredth.

1. sec’x=2, Xe[67z,87z) 2. cotx=—+/3 , Xe[—27z,27z)
3. 5tan® x+17tanx =12, x €[-27,0)

Find all solutions in the interval [O, 27;) . When possible, state exact solutions. Otherwise, state
solutions to the nearest hundredth.

4. 4sin®*x=3 5. 4sin® x =3sin x

6. 4sin®x=3sinx+1 7. 3c0s2x+5c0sx+2=0
8. 5csc? x—8cotx—5=0 9. cos3x=-1

10. 5sin2x =3sin x 11. sinx—2cscx—1=0
12. tan3x=-1 13. 3tanx=-1

14. tan’x—3secx+3=0 15. cscx=2?7Z

16. 7cos’> X +5cosx =0
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